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rform g oy fravrd) ol 2

(h fraf
2y mdrm
(3 s
0 wimy

(5 T T 29 wredy

TS T wfarm & fen fad § fam 20
U

Bive)
«12) AT V/
@) Fwi
(4) fiEs
(5) % 3l 7 wwA

ﬂ:-ﬁqﬂaﬁﬂqﬁm#mthﬂi
R Y w7

(1) wrwn 4 -

(21 = T

(3) maf A

(4) emh 34 .

(5) T TE Tn =@

wiarm & ghmafan d ¥Rwm a7
(1) TFEaH o

(2) IWuEm

(33 99

(4) FAEZ

(5) I A 70 A

frigggmwm ez fA Ay
(1) fem 2
(2) FFAFR 7

(3) famn

(4) oA

(5) mq‘ﬂiﬂm

-

[ ryana !
Which i the State capital ol Har

(1 Blawani
(0 Panipat
iy Sompat
4y  Chandigarh

(h Not attempted

Nar Nornyann eave is situated in which district
of Haryvana 7

i1y Sonipal

2y Yamunanpgnr

(3)  Kurukshetra

{41 Bhiwani

(5 Not attempted

During rany season, which river becomes the
floods in  Ambala  and
Kurukshetrn districts of the State 7

11 Hakra River

121 Muarkanda River
13} Rakshi Hiver

4y Tangri Hiver

5 Kol attempred

mager  cavs=e  of

Which State lies to the South-West of Haryana ?
i1}  Hajasthan

2} Utwar Pradesh

137 Punjab

(4} Uttarakhand

B Not altempled

Decnbandhu Chhotu Ram Power Pl

ant is located
in the district of

t1)  Hisar
2) Yamunanagar
(31 Sirsa

4} Panipay

LT3 NS
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6. TS 9 %2 & whrareas w4

(4) viEesz il

- 5

(5) ¥ T =

B.  mgmvmd 8 wfemn =
(1) witam
(2) Fhum
(d) ‘q'gm._f
(d) w4 wiEm
(5) I T =0 A

9.  whan A aentes Janpn § w9 2 o
) frgsit A wita, .
(2) @i
(3) == W I
(4) FErET ot
(8) IR TE B ey

wE T R |

10. ﬁﬁmaﬁﬂm.mmﬁmw .

(1) w=fm

Ti

HI

10.

Wha is the founder of Bhakra Dam Praoject 2

(1) Choudhary Chhotu Ram

(21
B 1]
(4)  Choudhary Bhajan Lal

(5) Not attempted

Choudhary Bansi Lal

Choudhary Ranbir Singh Heoda

The Third Battle of Panipat took place between
the Maratha rulers and

{1y Ahmad Shah Abdali

{21  Babur

i3 Hemu

41  Mohammad Ghori

i61 Mot attempted

In the Mahabharata, Harvana has been ealled

(1) Huaridham

12y Krishidham

(3! Bahudhanvaka
(4)  Jaya Samhita
(51 Net attempted

What is a Phargal/Fargal in the traditional attire
of Horvana ?

(1) Infant's shirt

21 Shirt

(3} Children's eap

(4)  Fulkari odhanij

{5} Not attempli=d

\ﬂ'l.ich ﬂf thﬂ fullnwi.nﬁ' iﬂ H | trndi”un“l '-'"Stﬂm[l

for women in Haryana, which is given to a bride
at the time of marringe ?

@ A (1) Lahariya

@ A (2} Dimach

@ wifen {3) Gumalj

(6) 3w o 1 T (4} Mandiya
W (5) Not attempieg
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r e o SRS s Theme State
11, faeafafaa v a oooon mshf{m :1.;-.1 ir:ﬁ w11, ':':11 :lnlt:n :;I.I.:.r:: !tr i:k 1r:1'|l1rrjin.; '.::::r-;:::i ::; ; l:'.:nn.-; g
B ﬁI-TL AT W Ay e e | 20200, Faridabad
W fovam - (5) inwichal Pradesh
Lo IT_'"“TH (21 Rajasthan
L G Uar Pradesh
4 yIm
(B 4 Punjal
) Not attempted
18w ghn e, gl !{TEEE‘EE* .m T 12, Where in Haryana is the fiying Lraining centre,
lﬁfﬂ’_m" (HICAY R warm wiamn § fm w29 “Haryana Institute of Civil Aviation™ (HICA) set
L 3 up ?
N wm 1)  Gurogram
2 fidnaes- {2)  Pinjore
(3 i3 Bhiwani
f4)  Trers (4)  Ruhtak
(5) I A B oA (51 Not attempted
13. wiEmm & fasd mfam fw fem g HaY WA 13, Harvinder Singh, u sportsperson from Haryana,
9 belongs to which sport 7
i ﬂﬁ“ L (1 Shonting
2y feesmwm (2)  Discus Throw
@ () Hockey
4 A 4 Archery
(5) I FF & = {5)  Notattempted
14. faFm wrm = FﬁWﬁﬂfﬂEﬂH% 2 . Where is the Chinkarg Breeding Center loeated
(1) wich, b in Haryang 7 '
(2) e, FEiE () Morni, Panchkuly
(3 femm 21 Pipli, Kurukshetra
(4 ¥, frarf L 4 Misar
(5) I W B =R 14} Kairu, Bhiwan;
5 Nuoy attempted
= o
15. ]f{m:n 7 foa =i @ "‘qﬁ.‘w ﬁ“-" =" W e 15,  Which year was declared as the “Girl Chilg Year”
T 7 in Haryana ?
(1) 2006 (1) 2006
2y 2014 - (2) 2014
(3y 2016 (31 2016
(4 1994 4) 1994
Gy I A8 T {5} Not atlempted .
AMRA/C4/Page 4 T% BT & forg v | SPACE FOR ROUGH WORK




T T T e T T R S W U TU——

EIES l:h\ Tl dhe W i =i i
- faa ‘;I'F_t:fmﬁ'f? &E‘;"{JL”L’ JIT' oo i’ﬁ B[ 16, When was the datayu Conservation Breeding
H F2 VO & = 0 wn Contre (JCBC) earlier kKnown aq the Valure

m7 :
Care Contre (VCC), established ?

(1) 2001

(1) 2001
@ 20 () 2011
W 8o {4y 2007
(4) 2016 (4) 2016

(51 Not attempted

(5 IT :[ﬂ’l ‘;:;" ?mﬁ“l
In which yvear was the number of scats in the
Harvana Vidhan Sabha inereased to 90 7

17. mwﬁmfmmﬂﬂlﬂfrﬁmﬂ 17.
5T 90 fmay o 2

(1} 2008 {1} 2008
(2) 1966 2] 1860
@ 1977 (3 1977
(4) 2001 (4) 2001

(5) I T = 9 i5) Not nttempted

18, wemafa W % Tovw § efan wa W fe i

18. Harvana State is divided into how many
divisions for administrative revenue purposes 7

Hatmmm &2
(1) 8 . 3
(2 8
(2) B (3) &
il ak
@ 5 v M &
40 6 (50 Nt attempted
(5) o T E =T
19. The Mahabharata war took place in which region
19. TEmwE # gg wRar & fem g A gen @ ? of Haryana ?
(1) 583 (1) Kurukshetra
(2)  rfE {21 [,I:'-Il'lipl'll
%) ﬁ (a1 Hlsi:r
" 4y Jhagar
) W {5y  Not attempted

(5) Fww 7#1 &1 =

. . 120, As per the Census of Indi _ ; '
20. undm e 2011 & wIgER, Weeen ® R @ T dia 2011, Haryana is the

largest state of India in terms of

Mﬂm‘ﬂ?l_____‘ﬂﬂﬁ'ﬂynﬂt ' ;uputat.iou.

& vare L (1) eighteenth
(2) dzeal (2) Ffiteenth
@) st . (3) eleventh
(4)  zerat (4) tenth

{5} Nolaltempled

" e 1o wrd % foTu TR / SPACE FOR ROUGH WORK
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21.

The meaning of the Harvanvi proverh, “Tawla
i Ep

21. 3 1t Bawla® (76700 & F1971) is 26
(n ﬁﬁﬂﬁ‘l!‘r?{m‘I ;ﬁq:l_ﬂﬂ'ﬂm (1)  Selfist
A — Sellizh people do not eare for otheps,
(2 A e @ fiw T A ; R
: cari: i et W (2)  The hasty person's discretion becomes zern
(8) weerpl @l Ay e ' ; . : .
e, ' () Doing an unimportant work in the absenes
TR i @ e 1 of an important work.
I T'-‘Tﬂ_ = {(4)  Evil spreads faster than good.
L vy o -
(4] Not attempted
22. Foafafas 4 4 figars) 3 mowEA @ 2018 § ;
s IR EE 4 22, Which of the following sportspersons won Lhe
Tl ¥ g e oW 2 bronze medal in Wrestling in the Commonwealth
(1) faam s Games 2018 7
(2} e 2 (1) Vinesh Phogat 27.
(1) WMz < (2} Yogeshwar Dutt
4y s wae (41 Babita Phogat
(50 I SF =y = 4y Geelika Jakhar .
. 5 Not attempted
23, & i : ‘_ﬁ% S Mo attemple (
2020 g 8 = g ae Fe 7 23. Among the lollowing players from Harvana, (.
1 - ' : who won the gold medal in Tokve 2020 .
5 Paralympies ?
(2) lﬁm Tl (1} Ravi Kumar Dahiya 28, F
{:-]} HiM] nfaa; (2} Sunita Sharma fo
4) Fw Slﬁm L (3)  Sakshi Malik He
(6) 30 78 7 - (4} Sumit Antil (1)
8. & v T W A o — (5} Not attempted
Fimi _ 24, Who was the first person to be bestowed with the =
(1) =g T title of the State Poet in Haryann 7 ;
21 urd A= (1 Kavi Chand Nardai =
@ @ L (2} Bhai Parmanand A
(4) o wh Ty (31 Uday Bhanu Hans "
(5) T A = {(4)  Shri Khushi Ram Sharma hl
) (3] Net attempted B Chog:
o5, mﬂmm'ﬂiﬁ‘i’iﬁlmﬁﬁlﬁﬁﬁﬂ ﬂman-
27 ot The very Drsl verse of the Gita  describes “Hi
s . Kurukshetra' us liste
» uﬂgaﬁl - (1) Yudhkshetra (place of wiir) ke ca
! tEj thuﬁl“‘.‘lrﬂ‘l '! 2 ‘2.:' I.I'.
3) fremia o HEkss Pince of righteousness) 3 o
. £ Elhelra {[.I]ﬂi_‘l' of leﬂmi|: 3 &
{4y ToIErE ) %) Rankshetra (plce of haygje) L 4 £
(5) e T T e (3) _Not aten
—tot attempted ___f_-’_r__'L
AMRACAPage 6 T mrd 3 FoTQ T { SPAGE FOR ROUGH wopy —————MRAC 4/,



26.
:-lmit'rllnr-d part of  the sentence, If po e .
““Ilrﬂ!.-'-.n"\“l 1= r[.qul'n.'i. YOUF answer e |_I 1, 'I,. Iﬂl"l.p"ﬂ“l-ﬂ'-!‘.-—"’
In this jel nge, every - (21 inmaculnte
4 TY O | terestoed i .
an easy life & mieresten 'l‘_l'ﬂ'_“j (1 immacenlate
(1) had easy life (41 imaculate
) 5y Not attempted
(2} I"ur hﬂl’l_! an fﬁﬂ}' Iiﬁ‘
(3)  to having casily life 31. Pick out the wrongly spelt word.
(4)  Noimprovement (1) preference #
(53) Not attempted 2y dilference =
(1) performence v
97. Fill in the blank with the suilable preposition. (4) reference x
He boasted his riches, {(5) Not attempted
(1) of
o i v 32. Pick out the antonym of the underlined word in
) w the following skntence.
(3) about [ saw her sitting motiopless in her chair and
(4) at gazing at the door.
(5) Not attempted (1) lazily
(2 bending
28, Find out the correct indirect speech form of the (31 negatively *
following sentence. ' (4 lively
He said to her, “You cannot see the chairman.” {5) Not attempted
(1) He _ told her that he cannot see the| . oop o0 ¢he symonym of the underlined e
chairman. the following sentence.
(2) He told her that you could. not see the I cannot rest from travel; T will drink life to the
chairman. lees.
{3) She was refused to see the chairman. {1) encourage
[ He told her that she could nat see the (2) giveup "
chairman. (3) accept
(5) Not attempted (4} Jen
(5) Not attempled
29. Choose the word which is apposite in the
meaning of the underlined word g4. Fillin the blank with the suitable alternative.
“History abounds in instances of cournge.” ffe wanted ______ in the pool.
e - (1) toswimming
(1} suffices 2y
(2) B S
(@) shines (4) toswinis
) failures (5) Not attempted
_,——l-'-'-.-__
— (5 Not attempted — ROUGH WORK
<=7 | SPACE FOR

AMRNC“J’PEEE Fi

Choose . 3 ve 1
hoose the correct alternative to improve the

<o w3

ek out the correetly spelt word




S - AT L
s e conEiEtIRE of
35, In this question, there Ihw:m:;ﬂh sentences
six sentences. The first and 2 t“ -11 o as Sy nud
a » R A B L i
are given in the beginmng and la u. {enees I‘il‘u'v.-u
Se respectively. The middle four '"'; 1" R
bi"l'ﬂ j'ull‘l'll.‘l]l"l'i up nll'b’? are Iﬂi]"“t't HE 1“IJ -ri n;
8. You i n--.]uin'tl 1o find the proper nrde i
the four sentences.
81 He tried the door.
Sg  He was carefi] not to touch anything.
i The room was neat and clean.
Q. Then he stopped into the room.
(AR.  He waited for a minute or two.

8. Itopened ensily and he peeped in,

(4) Noerror
(5) Not atlempted

Read the following passage and answer questione
I8, aned 40,

I 1 had been nsked in my early youth whether |
preferred to have dealings only with men or only with
books, my answer would certainly have been in favoys
uf books. In later vears this has become less and less,
Not that | have had so much better experiences with
men than with buoks. On the contrary delightful books
EVen now come my way more often than purely
delightful men, But the many bad experiences with

men have neurished the meadow of my life ns the
noblest haok could not do.

38, Which one of the following statements best

reflects the main arpument of the passage 7

. {1) Q@QSPR (1) There are more purels delightful men than
{2} RPQS purely delightful books. =
(@ SPRQ &~ (2) Tt is the experience with other human
(4)  PQRS beings that nourishes one's life and not
- L-"-F
(5) Not attempted necessanly books,
3} Neither men nor books give any worthwhile
36. C]'Imme the eorrect active voice form of the experience.
following sent x
: i i £'r::|cf' ’ t4)  Books are always better than meni®”
Sharan was being taught by Anil. (6)  Not sttempted
(1) Anil was teaching Sharan L—
(2 Anilis teaching Sharan 30, The author savs that in later years his love of
: b books diminished hocause
(3 Anil had taught Sharan, -
@ s ; : 1) he had better experiences with men than
-N aAran s H"Mhilll_.: Anil. with l'lﬂﬂkﬁ s
(o 4
! Notattempted 2 he hiad given up the habit of reading books.
37.  Pick out the part of the sentence which has an (3} even the bad experivnces he had with men
error. IT there js ng EITOr, ¥OUT answer is (4), were more valuable than what the noblest
Some men are bory reat. books eould give,
A — Y he did not get many delightful books te
some achieve greatnesg and ri:
R (5)  Not attempted
some had greatness thrygt upon thier 40.  Which one of the pairs of phrases best helps (¢
- e BT R bring out the metaphorical meaning of i,
¢ ‘meadow of my life' ?
(g (1) Vast and rich life
2 A (2) Well-nourished but dull life
(3) B

(3} Poor but simple life
(4} Pure and healthy lifel”
{57  Not attempled
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i

. lmm.Fag o) »fe § = o e i~ LR T
. Fembas ) g @ Bsfafaa gt a9 argrg a5, Suuopde’ we fan fanfaEm i vt )

w1 A i |
(1w e & gee 6 B - e g (y s fan e L
@1 oA w0, e e 3 L e fee (2)  waefia I':rm-fd?im
(3) ¥ e arema ! - fasmenfzaas fea S i
(4) WETE Tk g o B (- i faem (41 5#t - fagrm
(6) I T Em R (5) et 7 4 =D
g8, i fenarad m A 46, ‘sva § Tw arn, e w Al Tfee Bd
stat g9z i wa o wwgz wm A o w2
I Sed-afal 2 {1 W*-ﬁﬁ'ﬁﬁﬁ:ﬁﬂmmm'm
(1) w=fF T & § =
(2) Al FEEN F (2) W T W RE A
(3)  AHEH AFRH & (@ o o fard 3
n mmw"/ () s il g ot A1 feh 3 7 T
(5 3 AE &1 AR

(6) I A1 21 =TEA
47, FE ez aean @R 2

0. ‘gl wre faffa 2 3
(1) I A L
i
@ gt W (e =
(3) 73wl 3 A
. (4) M
(4) e 39|l H
. (5) 3 T A A
(5) ww A &A1 TEA
4p, sufim s R O A
W g iz @ arema e 1 TG | N
(1) g +3=33F 7 E @
(2) oy 4 3@ =90 o
3 ¥ + g =799 ' W B
(4) 43 =TH 5) ﬂ?ﬁhﬂiﬁl‘ o
—— GH WORK

%qﬁiﬂm_mmmgfuﬂﬂ

Camp age 9




adr |52 ‘e e I A
49, o fem e d g m R 7 52

(1) Hui
e (2) T AT
i - @ Fm
3 F=h T (4) fomg
W (5) I 7 1 =Ed

53, “Whew' = & fo 3fem amm =1 Hifi |
(1) wmrEnl =1 FEEn @ wh
. (2) ™l F1 9IEA
50. w17z & & fawe s 20 o i
(3) AR § wefas qwomd

(1 ¥+ + 7= ol (R LR R e R e p—_—

(2) ¥ + 521 = 3=

(5) I 3 2 =meat
@)+ v = wreafiom
(4) 7 + §m1 = weftan i :mthﬁmﬁ‘mm’mwmnﬂfm
LEE

(5) 374 3 T3 ) 4l % oy - s -
@ 3t # Frs vy _ iy
(3) a:i‘er%ﬁqﬁq_a;ﬁqm
* Hmmmg}rqrmiiﬁ?ﬁ LR =g
mmﬁq'mfmmaﬁﬁ;wﬁ?ﬁﬂﬁ ) IM T 1w

51. ‘=

T |
55' 3
o :“““““ T S @ " A
ﬁﬁﬂn%hqﬁ:ﬁqﬁﬁmm“m
(2) wmm iy |
3y fEn @ ey . —
(€ s —
(4) i
(4) ey
(5) m?ﬂﬁ:‘ﬂm (5) mqﬂ%m
AMRA/CA4/Page 10 T wrd # 77U T | SPACE FOR ROUGH work e



g TR A q WER Wiell we sanfia w8 8 Aikenss) )
W g W q g b A s B W
" :?ﬁ:_:m:‘ I B ot 11 g aw A wEn oA K
b 3 wfeenait €t wwn o R | oo A 9 i
e At waw g G 9 :

T RS

(2) 18

(3} 45

(4) 36

(5) I TE T =wa

9 fan o & aeil w0 Wi WS g @
w64 aTe e i s it |
SEPARATE

"

ERASE

(5) I T8 & 9

. o o i s i g2
|8 L_f# 8 |65

hii

57.

In a local bus which

WLiris

Irom eity

A
ol men

7 wormen get dows

number of wornen 18 twice of the gumbas

In the next station "B
arHl

11 men enter the bus, Now the number of me
I —_—

and women s egual. In the beginning how min
Tunny

ABRETETS entored that bus 7

(1) 04
(2) 18
(4) 45
4) 36
() Not attempted

Find out the word which cannot be formed by

using the letters of the given word.
SEPARATE

(1) PARADE

(2) TREES

(3) TEARS

(4) ERASE

(5) Not attempted

Numbers and their letter-codes are given in the

following table : - S
| Number giler l2le | & | § |
LetterCode| K | E [ F [ ¥ | P | L]

You have to find cut which option has the correct
coded form of the number group 5637,

in code language, TRALN is coded o<
how will DATE be coded in that




1) 45:6

2 B25:5

(1) 108:9

(4) 42:4
(6)  Fem Tt F =

61, um meh i s wm wA R A FE, Yan
e 2 o & 93 1 o= @ (7 o W oIm wEh

H T ddy 2

(1 fwm

(2) =

(3 T

(4) -

(5) 3 4 T wmd

62. R ¥ F WR 9 frewd Ry m ¥ | W
Hﬁ?#ﬁﬂﬁiﬂﬂﬁﬁﬂmw&mﬁm
ﬁﬂhﬁmﬂﬁﬁﬂﬁ—m!ﬁﬁﬂifﬁmm

60, Frafafum i @ atwam v A k7

ﬂf-ﬁﬂ?mﬁm#i|

FEH: i gk Tl 8
wfl i fafgi 4
il o am &

i P oh fem fafgard | ¢

{1 ﬂrﬂfﬂ’.‘ﬂ‘{gﬁt 7

D 7o fafegad S 8 | L

(1) imrau#rcmﬁqﬁ“
(2) LM Py g

(3) %-aauﬁa.aa-.g

(4) F 13 1) fraery 5

(6) I TH ¥ amy
AMRA/CAIPage 12

Gl1.

62,

Find the odd one out.
(1) 48:6

{2) 626:06

(3) 105:9

(4) 42:4

(5) Not attempted

Pointing towards a pirl, Ankit said, “This girl i
the wife of the grandson of my mother.” How is
Ankit related to the girl ?

fl)  Father

(2) Unecle

(31 Son

(41 Father-in-law

(5)  Not attempted

Three statements are followed by three

conclusions. Take the statements 1o be true even
if they seem to be ot variance from the commonly
known facts. Decide which of the given
conclusions logically follow(s) from the given

statemuents,

Statements : Al rats are enls.
All lions are ents,
All deer are lions,

Canclusions : (1) All deer are cats,

{1y Some deer gro rats,

(MO Some cats arp deer.

(1) Only Il cod 111 follow
(2} Only I and 1L follow
(@) Only I follows

(4)  Only I and II follow
(5) _Not attempited

= rd % FeT0 ¥t | SPACE FOR ROUGH WORK T
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! T (x) W A R 7
35, 46, 59, (x), 91, 110, 131

(1 64

@ M

3 79

(4) B4

(6) I ¥ 2w

vta @3% us dfe § 93 ¥ | ofa, g s wfw F
Frreea 7 &a1 # | e, g & Fao W
t R, 9 & G Y@ 2 g o d v
Yo & 1 SFE o o sin A & R | A s
R # 8 fe e 43187 e

(1) son gfl AR

@) EERIE— Jﬁ—M”' '3’&’
@ gl ¥ 8w ,JE' yil#
@) W=

(5) I AE &0 0w

m@%ﬂﬁﬁaﬁrﬁl‘mﬂmﬁﬁﬂ

Squ'r = JEHT "
1"”'7
-

64

2 R

81,

EEI

5 {g, ”

What is the value of (x) in the series ?

a6, 46, 59, (x), 91, 110, 131

(1) 64
2y 74
(4 79
(4 B4

(5) Not attempted

Five "boys are sitting in & row. Ravi is not
adjncent to Suresh or Anil. Anubhav is not
adjacent to Suresh, Ravi is adjacent to Mohan,
Mohan is in the middle in the row. Anil is sitting
at the end on the right side. Then Anubhav is
sitling adjacent to whom out of the following 7
Ravi

Mohan

(1)
(2
(31
(4}

(5

Suresh
Anil
Not attempted

You are a Finance Minister of any country. There
i recession in the economy of that country. What

best action would you take ?

"ﬂfﬁit | A9 Hi!tl-m LLal iﬁ."' At ? {11 Try o get money f[rom international
(1) st wsifeat | TRk R i ol agencies.
@) Fm & wdEEEn i gig w0 & frg ar=d) (2) Implement good financial policies to

vl Sfvad mﬁﬁ | enhance the economy of the eountry.
(3) =i # =A== gl $ 3N arE | (3 F}Ivert the mind of the public to other

jasues.
ee] o3 & YA H | ‘

4) sgzm B g7 U . (4) Try to borrow money from other countries.
(5) e Al & <& () Not attempted
Fefafar e ’EE'HT g0 A & forg A Ry 66. Select the misging numbers from the given
fﬂiﬂﬁ 44 L] T a9 hifaa | options that will complete the number series.

0,26, 7 .20, 30,42, 1, 72,80 0,2 6, 2..20,30,42, 7,72, 90
M 183k 56 (1) 1600458
DR~ (2) 12and 56
@ 183 48 o
- (4) 12and 48

\isz . = e
I Y 4 ——""“"—"'_w_umr
HPaga1s mmﬁ*ﬁ!“"‘”""‘c R EM; And
9

-

L

- ™



bt |BT. Find the odd one out,
i . g fifxe 1 r
67. et 3 fin 2 P (1) Lyricist - Song
1) e - e (21 Farmer = Plough
@ foms v (%)  Labourer - Spade
(A wfge - A M
. (40  Carpenler - Saw
4y 93t - =M d
. s (51 Not attempte
(5 T ] 2 wred § MRS
: G8.  Seleet the option that is related to the third term
” N wET S R
68. W fawen @ gfm A AR W ?ﬂﬁ in the same way as the second term is related 1,
T wew gen v wafam Rowe WA the first term,
R R T 12:72::8:7
1y 46 (1] 46
2y 28 (2} 28
@ e (@ 18
4
s (4) 64
(51 T A & 7
Y SSRA R e (6) Not attempted
69. :ﬂﬁ"’m *1 3 el w2 f et W R g, olect the option that is related to the third term
En T R ARt v g ‘in the same way as the second term is related to
Mma : AMm : ; Ppr 2 the first term,
(1) BPpy - PPF Mma : AMm ; : Ppr.?
{2) Hpr (1) RPp
(3) RpP (2) Rpr
4 Prp (3} RpP
(5) I 7 7 4) Prp
o . (5)  Not attempted
70. mmmﬂm!ﬁr&q&ﬂ%ﬁmﬂﬂﬁﬁﬁ
waafvan Fom 1 S 70. Select the combination of numbers gp that
B & ’ = T ; the letters arranged Hcl'ardin.g]}- will form s
OPI1 M meaningful ward :
12 3 45 6 DUOPI M
1 23 4 6 g
(1 4.3.2,5,1,6 (1) 4,8,2,6,1,6
(2) 6,3,1,254 (2) 6,3,1,2,54
@ 43 NB2gy (3) 4,3,1,6,2,6
i4) d‘ﬂ,ﬂ.l_ﬁ.lﬁ 4y 4,3,2,1,6,5
(5) T T 3 (6)  Not attempted -
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1
S . 71, What is the
T e wE o f . 5
RIWMA WY maintenanee  nnd configuration  of Camputer
(1) @ win gy Syt ?
20 Feamgn giem (1) General Purpose Software
3 forem qfferda (20 Deovice Driver
4y iqefin farem (3 System Ltilities "-’/
(5) I T B TR {41 Operating Syslem
(5) Nt attempted
n B #E dqaen wmrma adse D6 we
FHETER HIETE ITERY wraT) # i { |72, Virtual keyboards or  Online keyboards are
= ; — - nly provided by Internet banking websites
1 7 wErTeal w1 gikm @l & e e A -
et because
@ & RR G & A & (11" they allow users to type passwords securely
X ] 2) th » faster than physical keyboards
5 ﬂﬁiﬂﬁﬁ!ﬁl‘ﬁf?—q‘qsﬁﬂi { ey are faster than physical keyboards
2 i S . {3)  they can easily fit on small sereens
(4) q wgmEal ‘gﬁ“li'lﬁ'iﬁ
i4)  they are convenient Lo the user
(5) I 4 & =
{5y Nol attempted
A Peffem 3 frertsll &
i § FHam Fua i e & AN
d o 78. Which one of the following statement iz nof
' ) correct about Blockehain technology ?
i' Py s
I w v s § ge Te R, il e i En ey il o vy s s s
wft Argw w Rar§ 2 2 ) AT
T 8, i TR I which is vigible to every other node,
2 : . i :
| Tk & v e (iﬂ,:‘ﬂﬁ'} & fe, sfirts (2) It is possible for a single member of the
Wmmmﬁmmm%l network to mnke changes or ulter dats.
| W @ st & g1l [AAFG T (3) Only the owner has access to the private
e e b | data of the block.
I“
i g1 1 s ity gt B w1 R (4) A block can be a secured chunk of data.
B Not attempted
e 15 rmwrﬁ:ﬂumrsnnﬁmﬂnﬂuﬂ" WORK

m wfedst W am T M ey farm i

name "rihf Fﬂﬁ warne lh.:ll i'l H‘l'l-l‘fi rr_|r




-;aﬂ f;“;:‘r;'j (4m) | 74, What is the th

. eme of World Habitag Day for th
74, frm ugtam fae & al 20 ¥ear 20227 x
i 2 - 71 3 (1) "MiT-H] 'I'Im- Gap : Leave No Ope and Plag,
o L Behind
i 3
vy @ g 2y “Inclusive Development, Sustainaby,
(0 “smmarh faEa e P Development'
T B BL L]
- i L *Clean Habitat, Healthy Habitat”
13 S gE,
R Sap— A “Inclusive Development For All”
14| 1 =1 L ]
A s Wi (51 Not attempted
i3 F= aAl wlk
8. it . & 3T (s 352) F 9999 H B3 |76. The enforcement of which of the following
iy G Ea L s . 7
- ; 7 fm qm wimw ® Fefam Fundamental Rights cannof be suspended whey,
T:ﬁ_ TﬁF;t s - " : a Proclamation of Emergency (Article 352) i« in
1 F ATl A

operation 7
1) wom = #=R

(11 Right to Equality
(21w 3 (2}  Right to Freedom of Religion
e e (3)  Right to Personal Libertios
(4) FTEmEEE 71 sfrEw

(4)  Right to Freedom of Expft‘s:-'rinu
(5} Not attempted

(5) 7= 3 9 9
76. amfenﬁa"taq-éahﬁmﬁﬁ?

76. Whal is a reserved constituency ?

11 ™ et famm wam smiem sl (1} A constituency in which only those politics
Tl el S Ty AR s 2| parties  claiming  to represent  reserved
TEHe =3 7

categories can rontest elections,

. & - (2} A constiluency in which only
\ BT P ft e v i i SRR s i

- P = m particular reserved calegory can stand fir
IR a  wy f e

elections,
(3) l"ﬂ‘r faaram.iny Fani FAutfas wffieE & @ A congtituency in Wwhich eleetions gre hel:
(4) UM frab s i o Tepresentation.
: 7 faa WAz et ® = uE ; . )
fai s oo - R I ) A constitueney in which the voter |is
T T F w B E consists only of the memborg gf Particala
(6 370 38 2 reserved category,
ay n" ¥
77. fash Farensi b1 1] mﬂwﬁ T =D g & AR T 3 Not attemptlod

forzi gm fom wn Bfirs % wq # #6f@ fE@m |77, Whose teachings  and

E‘NN!I{:‘S Wer
e 2 posthumously written and compiled |, bi
(1)  wErdhi followers in the form of Tripitaky 2 b
L-— ' {1} Mahavir
(2)  an ;
: (2) Kabir
(3 I {3) Shankaracharyns
1) I3 (4) Buddhg
(6) I 77 & =rmm {6) Not altempted
—--..___._,..--"""'"'_-__
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Faranafie g & :
eaffiga & W i SIGITXIEY Wiy 82 | 8. Which of the

,,,1 following metals 8 moderately

11 %P (Ca) l it
Z (1) LT
(2) usfRREw (Al (9 Al
(g i (K Lin K
{4) A (Fe) ) Fe
15 S -Tfl el LILG (5

8)  Not attempted

o Fffn # @ VAR wwm 3 T 1 A9, Which of the following stotemisnt/s iv/are ooy
- u BEFE P

pigds Ham o af AR 2 about change of state of solid 7
frama .
(a) TR WIS =1 e W‘-'!-H 1 AE W1 AIHH ta) The continuous supply of hewr 5 malting
i AT R : pomnt increases the temperature of the solid
R— :q-rtif-i 5 3 . (b} The continuous supply of heat ot melting
(b} 3 0 4
3 b . +  paint does not change the temperature of
U &g qoEa AR SR

the solid.

(@ eEim W e B Rim s G 8 7

(¢} The continuous supply of heat at melting
e § e 0 3Em A oad R =

point gets used up in changing state fram

fra fon o e @ w P w5 A solid to liquid.

[1"‘ {h}m‘;ﬂ} Choose the correct ﬂ'pt'mu from the codes Ell"-'f:l‘-_
. below :

(2) Faa (b

= {1) (b)and (c)
(3} =Ha= ()

\/‘/ {2 Only(b
Yo a) T Ged

2 (3) Only e}
(5) T i & WS (4) (a)and (c)

B0. Esﬁmﬁ;ﬂwiﬁmmﬁmﬁmm (5) Notattempted
fedeft T =1 g S 2

P T 80. Which State won the most Film Friendly Staie
= s Award in the 681 National Film Awards T
t?} R, (1) Telangana
(3 FEmm

(2) West Bengal
(4) FERTY (3) Madhya Pradesh
(5) I 7 o0 == (4} Maharashtra

() Not attempted

Bl. Whatis GUL?

(~Q) Graphical User Interface
(2) Geographical User Identity
(3) General User Instruction?
(4) Gaining User Informstio®

(5) Notattempted __——
- & ﬂﬂfm £ 7o | SPACE FOR ROUGH WORK




R2.

R3.

At & T
R warer gow @ dim A S

W Fm wen fagy o gt B2

(&)

I 3 T

T, v ot g (firfiee) T fs
it § o

B35.

120 w53 Agg

(3} fasme snfds iy
4 i gy -
(6} =W 7 2wl

Wmﬂﬂﬁiﬁmwﬁ%hmmﬁn
:t‘-ﬂﬂﬂmmmaﬁ R EIER T —
(1
(2)
(3
4)

s —

(_4eT ur wER T A e wwen g

L(3) il v # e e s § |
W4y e P T2 @I 0 waen e g

(5) I A o =l

§2. Which art form derives its name

from  th,

birthplace of the character Sita from (he famoy,

epic Ramayana ?

{1) Gond

(2)  Mandola

(3) Mithila

(4) Vanshri

(6) Not attempted

classification of in India.
(1} Public Sector Units

(2)
(3)
(4)

(5)

Mineral Rich Areas
Special Economie Zones
Civilian Honours

Not attempted

What iz the name of {he

‘Maharatnas', 'Navratnas' and ‘Miniratnas' are

international

organization which facilitates cross-border police
conperation ta combat international crime 7

1y
(2)
(3)
(4}

INTERPOL
POLCRY
SAFETYCOM
NATD

Not attempted

What is Anthracite 7
1) Itisn form of coal which j
moisture copntens.

(2}
(3)

It is the highest quality of
It s
UuEe,

hard coal,
the mosy Popular oy

(4}
(5}

Itis a low grade brown ton]
Not attempted
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& =i § 9| 500 fem I R, e o v aw

(1 Emﬁm:__./ Qi 280ks
12 200 fem (2) 200 kg
) 100 (31 180 kg
4 300 fEm (4) 300kg
f =
. AL aed i5) Not attempted
& ¥ 20,000 = W 2 791 # ¥ 22,260°50 ® 89, T 20,000 amounts to ¥ 22.260:50 in 2 years
T}, s s A GatE B praEmE R compound interest, compounded annually. The
b rate of interest is :
U 5o5q () 525%
Y bse o (2) 55%
b g 3 6%
Vs (4) 6%
5y . Not attempted
AN 78 o e ® ) -
, "% 19 < wrd i forg T | SPACE FOR ROUGHWORK o/ /3
oy 5 A7 e
' IS& P ____-—'ﬁ‘
1, Em;{.-i— = 7{4’ Af S I
e M e $ox0 a8
3“’?‘?( I - 3}ev° » .:S:A e . g

bll?&"?ﬂ

25%
I T =3 wmen

mm“ﬁ‘ﬁmﬁﬁfmﬂmmlmm
ﬁm*“‘lﬂ?@hmmmmqmmw
vammnwg

(1) 2:3
(21 5:9

4) 1:3
(5) I 7 T A

8% T3 O A= R awr 9% 18% FT W ATA A ) W
@ § 3§ 14% am Em B | 8% e m )
ﬁ#w%:

88, A man bought

87.

o worth © 6,000 and sold half
0%. At what gain percent

of them at a gain of 1 ‘
must he sell the remainder 50 as Lo get & gain of
25% on the whole 7

(11
(2
(3}
4

(&)

a0

33%

40%

25%

Not attempted

Three equal cubes, are placed adjacently in a

row. Then the ratio of the total surface arca of
the euboid formed to the sum of the total surface

areas of the three cubes is :

(1) 2:3

(2} B5:9

(n 7 El_

4y 1:3

(6) Not attempted

A merchant has 500 kg of sugar, part of which he
sclls at 8% profit and the rest he sells at 18%
profit. He gains 14% on the whole. The quantity

of sugar sold at 8% is :

EI,\‘IE I .‘



gD, =fe n*+hb*« r"l =

W 1::100
& 1:%2:1
8 2:1:1
%) 1:1:%

(5 mﬂ'ﬁiﬂ'l"l’ﬁ

10,000 % frwzen 4 @ sward A 2.3, 4,5, 68% 7
CREFCR L

(1) 9320, 10060

(2) 9660, 10060

(3) 10080, 10340

(4) 9960, 10080 'L

(5 T

01,

92, muimimﬁwﬁ MMMWW
LU L F

..r‘
iﬁh

&b
-4
e, -

:

2 1:
{8} 2:1:1

4 1:1:2

(8) Not attempted

91. The two numbers nearest to 10,000 which are

exactly divisible by each of 2, 8, 4. 5. 6 and 7 are :
(1)
(2)
(3
(4}

(5)

9320, 10080
8660, 10060
10080, 10340
9660, 10080
Not attempted

92. The sum of al proper fractions whose
denominators are Jess than or equal to 100 is -

1925

: :;i_i &8 =




Ri.Y !
" A, B0 Y 0% peafufy o) N w6 aid o Hl-page manuseript

4. A takes B hours to €opy o

f-Tr'ﬂ It 3= fi et Tr'l f! H 'I-l!' I1‘ Gl'f"ﬂ i ‘_!-" .P‘ i Fﬂ while B can enpy the same manuscripl  in
wn #1100 REER rrafaf o W g - hl:hur How many hours would it take them 1,
fitd a2 T, afz ax 241 e TN A B eopy n similar 100-page 7 anuseripl, If they wark
(1 9wz together ?
5o o
(21 11_?_ 0P (1) 8 hours
o = =
@14 W gF L//r 2 El-f- liours
i
6 _-
14 'ﬁ? Ha (4 14 hours
51 I 9ET 291 9rE (4) ﬁg hours

o {69  Not attempled
4 0 3 0% = § w7 30,000 7% @ 50,000
T SR TR T 16,000 79 UM R 1|95, Two friends invested T 30,000 and € 50,000 in a

N OF ST WD SR g win gafs LA lrusiness, They earned a profit of T 16,000 at the
¥ 0T, T G % w99 A ala v | v end of the year. One half of the profit was divided
e & faen o j sse X127 {BX i< equally between them and other half was divided
0 7 7.200, % 8.800 ;&é’ @‘.3-! in the ratio of their capitals. How much did each
of them recejve ¥

2 7,400, T 8,600 G e ad @ TG K

, -

3 T 7,500, 8,500 L 3 (2) T 7400, 8,600
[ 202
AT 27,000, T 9.000 ),/?{ (3) ¥ 7500, T 8.500

I g oara o }t (4) T 7,000, T 9,000 J

,H" Saﬂlu
{6) Not attempled

g A " .
* W emd 100 fli/da # ol e @
!a'f-iqm o 75 fodft & w2 3 fime & fou == | 96. An express train travelled gy an average specd of

;m-p, Rz # 600 foreft wr 3 T W UEEA 100 km/h StOPPIng for 3 minutes pfier every
= e
“f*ﬂ?rm Al &7 9 W Tk oo 0N W ke o ey
b B2 o4 W :_f__,..-? destination 600 km from (he starting point 7
1 M”ﬁ (1) 6 hours 24 minuteg
9 7 i
9 ixca {2) 6 hours 27 minuteg
Eq ']Uﬁqz - - r T ‘.ﬂ
: - (3) 6 hours 30 minutes
"
@ 2 Fq:m\f""' (4) 6 hours 21 minuteg
W {5) INot attempted
————
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87.

s s x, gl won y 3 10% W W y,
125 8] 10% zziwt.i'?l:ﬂ"?g-
(1)

o
140-55 1178
12y 143

{3y 150

AR

Tt T ZA =R

(5}

+ 1075+ (075 +11 W @ g b

4 1
T T o e

15 599, 18 afgend shi 12 w58 W w9 W
v f27 & ¢ 2070 w9 § | 3R % g, v ol
3 % g & O e H g a3 2R, A

1 9w, 2 wfEEi 3 g A W A e (7 )
$:

If a number x is 10% less than anothor number

and ¥ is 10% meore than 125, then the value of 4

15
(1 140-56
2 143
3 150
4y 12375

(i) Not aitempted

The p-r-mtiw square root of
(075"

o + 075+ ©75°

w1 s

(1) 3
(2) 3
3 4
i4) 1

{6) Not attempted

15 t::m. Iﬂl wumd:n und 12 boys working togethe
earned ¥ 2070 in a day. If the daily wages of «
man, a woman and a boy are in the ratio o
4% 3 : 2 fthe daily wages (in T) of 1 man
2 women and 3 boys are .

(1} 180

(3 206,

(3} 240

(4) 135

{5) Naot attempted

_ ‘EfﬁlﬂlﬂﬂlﬂdﬂdMMMM A B (

thAmm%vuﬂﬂ*m than B and |

 receives 26% less than C. $hen s ghare i -
-1




